
 

8.5.1 8.5 5

1 Use the existence uniquenessof the equidistantline forany
two points and the argumentssimilarto thecaseof R2 to

completethe proofof 3 reflection theorem forthe non Euclidean

geometry the upperhalfplane

2 Use calculus toverity that the area of the limit triangle
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Calculatedouble theintegral fodig
I r Does thisintegraldependon the radius r

3 Consider 2 circles nonEuclidlines GC that do not intersect

i
Provethat thecircles that are orthogonalto both

C and Cz have centerslying on a line l am

I all pass through 2 points Pand Q
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use equations to find equationfor l andthe
a a coordinates for P Qi
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8.5.1 8.5.5 See Note14A

I Lem Given 3 points A B C that are not on the same
Euclideanline

Anypoint p is uniquely
determined by its distances to A B C

Thisdepends on thefactthat GivenanytwopointsA andA there as a

unique non
Endodentinethat consistsof all pointswithequaldistances toAandt

ath A can be reflectedtoA bythis equidistant line
Let f U U be an isometry Process to decompose f as at most3reflects

Prek 3 pointsA B C not on a line Denote f A A FIB B fl C c

step1 If A A set r Ido If A A set ri re

which is thereflection w rt theequidistantlose l for A A

Then thecomposition rof if is an isometrysatisfying falAKA

step Denote Bsfa B Cefalo

If Ba B set he Ido If BI Ba set rare which is

the reflection w rt the equidistant lone la for B B

Then dist A B dist falA it B dist A B AElz
the composition notifs is an isometrythat satisfies
FsCA A T B B

step Denote Gifs c If 13 0 set re Idu Lf Gtc set

r res the reflection w rt the equidistant lonely to
C C Then

rot to rot of fixes A B C horror of Ldu
f r orzo r is a compositionof at most3reflections
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2 We calculate more generally
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2 thatdoes not depend on the

height v of the centers


